Match the sentences to the drawings
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sgropsofs - OO0 000 000 000

sgrosoft. QOO0 00000 00000
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Draw more counters to show the groups

3 groups of 3 “‘ ‘ “

7 groups of 2 ” “ "

4 groups of 5

1 group of 10



Write the repeated addition to match these pictures and a multiplication sentence.




Join each calculation with its meaning:

3+3+3+3

5 groups of 5

Bxb

6 x?2

4 groups of 3

4x3

2+2+2+2+2+2

6 groups of 2

5+5+5+D5+H

Complete each calculation:

3+3+3+3-=

X 3

5+5+5+5+H=Hx

+ = 3x10




